
Securing cargo. We invented the concept.

80
07

80
 D

144 / E 4, E 6, E 9
Friktionsfäste / Friction attachment Friktionsbefestigung

Art.nr 800780



ViktBezeichnungDescriptionBeskrivningArt.nrPos.
7,75 kgGrundplatteMounting plateMonteringsplatta8007711
2,65 kgFührungsplatteFastening plateUnderplatta8006022
0,14 kgDistanzhalterShimShims8006163
0,09 kgSpiralfederSpringFjäder8006044
0,02 kgAusgleichspilzPlastplungePlastplunch8006035
0,51 kgGleitplatte 15 mmSliding pad 15 mmGlidplatta 15 mm8006476
0,68 kgGleitplatte 20 mmSliding pad 20 mmGlidplatta 20 mm800646--
3,56 kgBügel obenUpper partÖverbygel8007657
0,42 kgSchraube M20 x 140Screw M6S 20 X 140 FZBSkruv M6S 20 X 140 FZB2111718
0,02 kgSchiebe M20Washer BRB 21 X 36 X 3 FZBBricka BRB 21 X 36 X 3 FZB2119029
0,08 kgStop Mutter M20Locking Nut LM6M M20 FZBMutter LM6M M20 FZB21186110
0,15 kgSchraubeScrewSkruv M6s 12 x 15021109611
0,02 kgStop Mutter M12Locking Nut LM6M M12 FZBMutter LM6M M12 FZB21185712
0,01 kgScheibeWasherBricka BRB M12 FZB21190713

Securing cargo. We invented the concept.

80
07

80
 D

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Friktionsfäste / Friction attachment Friktionsbefestigung 

Page 2 

Mått / Dimension / Einbaumasse

41

20

173

260

296

95

8

2

3

4

5

6

1

7

11

9

10

12

Vikt / Weight / Gewicht: 16.35 kg

380 Nm

50 Nm

(A
) 3

-5
 m

m

13
13

Number of Shim. Pos. 3

Sliding Pad
(mm)

Frame
thickness

(mm)

Number of
shim (3mm)

Net.
distance A

(mm)

20 15 3 4

20 12 2 4

20 10 1 3

20 8 1 5

15 15 1 3

15 12 0 3

15 10 0 5

10

15

For 20mm sliding plate and 15mm 

flange.

Use 3 pcs of shim plates. 800616.

The measure in the leaflet is for 

that combination.

Note! Theoretical values, depending on the color thickness

and flatness of the frame flange, an extra shim may be 

needed. The measurement (A) must always be 3-5mm 

when mounting the attachment.


